PLANT ENTERPRISES PRODUCTION

TEANT ENTERINISES INDUCTION							
Cron	Number of	۸	Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Pine					71,994		
Hardwood					33,107	cords	
Pulpwood (Total)					105,101		
Chip & Saw					163,273	cords	
Saw Timber							
Pine					11,097,693	board feet	
Hardwood					4,130,838	board feet	
Saw Timber (Total)					15,228,531		
Total Pulpwood, Chip & Saw,	,						\$29,541,935
Saw Timber FOB Mill							
Total Forestry Stumpage							\$17,283,346
Christmas Trees	*				1,300	trees	\$52,000
Forestry (Total)							\$29,593,935
FRUITS							
Blueberries	*	6.0	1,000.00		6,000	lbs.	\$7,500
Strawberries	25	74.0	1,950.00		144,300	flats	\$1,298,700
Fruits (Total)		80.0					\$1,306,200
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	18,900.0	5.00	Yield / sq. ft.	94,500	lbs.	\$127,575
Greenhouse Vegetables (Total)		18,900.0					\$127,575
HAY FOR SALE							
Grass	65	3,000.0	3.00		9,000	tons	\$450,000
Hay for Sale (Total)		3,000.0					\$450,000
HOME GARDENS NURSERY CROPS	5,900						\$1,770,000

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
NURSERY CROPS						
Floraculture & Bedding	12				acre	\$375,000
Plants						
Woody Ornamentals	6				acre	\$100,000
Foliage Plants	*				acre	\$20,000
Nursery Crops (Total)						\$495,000
SOD PRODUCTION	*	90.0			acre	\$486,000
SWEET POTATOES						
Fresh				200		\$2,800
Sweet Potatoes (Total)	*	10.0	20.00	200	bu. (50 lbs.)	\$2,800
VEGETABLES						
Broccoli (Fresh)	*	2.0	300.00	600	cartons (20 lbs.)	\$9,000
Cabbage					,	
Fresh	*	5.0	150.00	750	sacks (50 lbs.)	\$5,250
Cabbage (Total)		5.0				\$5,250
Cauliflower	*	1.0	350.00	350	cartons (20	\$5,250
					lbs.)	
Cucumber						
Fresh	15	100.0	300.00	30,000	bu. (50 lbs.)	\$300,000
Cucumber (Total)		100.0				\$300,000
Irish Potatoes						
Fresh	12	25.0	170.00	4,250	cwt.	\$148,750
Irish Potatoes (Total)		25.0				\$148,750
Mustard (Fresh)	15	60.0	700.00	42,000	doz. bunches	\$294,000
Okra (Fresh)	*	4.0	300.00	1,200	bu.	\$30,000
Peppers						
Bell	*	8.0	500.00	4,000	bu. (28 lb.)	\$60,000

PLANT ENTERPRISES PRODUCTION

		LANI ENI	EKI KISES I KOD	OCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Peppers (Total)		8.0				\$60,000
Pumpkin (Fresh)	400	6.0			cwt.	
Snap Beans (Fresh)	*	8.0	150.00	1,200	bu. (30 lbs.)	\$30,000
Southern Peas (Fresh)	6	10.0	100.00	1,000	bu. (24 lbs.)	\$25,000
Squash (Fresh)						
Yellow Squash	*	6.0	200.00	1,200	bu. (45 lbs.)	\$18,000
Squash (Fresh) (Total)		6.0				\$18,000
Sweet Corn (Fresh)	6	12.0	600.00	7,200	doz. ears	\$25,200
Tomatoes (Field)	8	12.0	1,000.00	12,000	lugs (20 lbs.)	\$216,000
Turnips (Fresh)	*	6.0	900.00	5,400	doz. bunches	\$37,800
Watermelon	*	4.0	100.00	400	cwt.	\$3,200
Vegetables (Total)		269.0				\$1,207,450
TOTAL ALL PLANT ENTERP	RISES					\$35,438,960

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
	Fiduceis	rioduction		Fioduction	Measure	v alue
AQUACULTURE						
Crawfish (Farm)	*		Acres in Prod.	33,800	lbs.	\$20,280
Catfish (Farm)	*	52	Acres in Prod.	67,000	lbs.	\$45,560
Fish bait	*			10,000	lbs	\$60,000
Alligators (Farm)				79,560	ft.	\$1,352,520
Aquaculture (Total)						\$1,478,360
FRESHWATER FISHERIES						
Crawfish (Wild) **	15			20,000	lbs.	\$11,600
Freshwater Finfish **	60			25,000	lbs.	\$8,000
Freshwater Fisheries (Total)				·		\$19,600
MARINE FISHERIES						
Crabs **	10			11,187	lbs.	\$15,164
Marine Fisheries (Total)						\$15,164
FUR ANIMALS				2,504	pelts	\$18,379
ALLIGATORS (WILD)				1,710		\$35,910
HUNTING LEASES				ŕ		
Waterfowl	120		No. Acres		acre	
			Leased			
All Other Game			No. Acres		acre	\$1,375,000
		,	Leased			¥ 9- · · 9 · · ·
Hunting Leases (Total)						\$1,375,000
HONEY	10	100	No. Hives	11,000	lbs	\$8,140
TOTAL ALL FISHERIES & '		100	1.0.111.00	11,000	100.	\$2,950,553

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

	ANIVIA	<u>AL ENTERPRISES PRODUCTIO</u>	11		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,040	head	\$460,606
400-500 lbs.			1,040	head	\$525,002
500-600 lbs.			620	head	\$346,627
600-700 lbs.			300	head	\$191,100
Steer Calves (Total)					\$1,523,335
Heifer Calves					
300-400 lbs.			1,040	head	\$419,292
400-500 lbs.			1,040	head	\$483,678
500-600 lbs.			620	head	\$327,258
600-700 lbs.			300	head	\$179,400
Heifer Calves (Total)					\$1,409,627
Yearling Cattle					
600-700 lbs.				head	\$127,400
700-800 lbs.			200	head	\$138,000
Yearling Cattle (Total)					\$265,400
Cow-Calf Pairs				pair	\$380,000
Cull Cows				head	\$266,913
Cull Bulls			80	head	\$73,476
Cattle & Calves (Total)	300	7,500 No. Cows			\$3,918,751
DAIRY					
Dairy Cows					
Milk	*	100 No. Adult Cows	820,905		\$135,285
Bred Heifers				head	\$36,000
Adult Cows				head	\$80,000
Cull Cows				head	\$23,063
Bull Calves			51	head	\$3,060

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
DAIRY						
Dairy Cows (Total)						\$277,408
Dairy (Total)						\$277,408
HORSES						
Brood Mares						
Race Horses	10	20	No. Brood Mares	10	head	\$80,000
Show Horses	25	50	No. Brood Mares	30	head	\$105,000
Recreation Horses	150	500	No. Brood Mares	300	head	\$450,000
Brood Mares (Total)						\$635,000
Stud Fees						
Race Horses		10	No. Stallions	50	mares bred	\$100,000
Show Horses		25	No. Stallions	10	mares bred	\$15,000
Recreation Horses		50	No. Stallions	500	mares bred	\$100,000
Stud Fees (Total)						\$215,000
Race Horses	10			50	head	\$500,000
Show Horses	25			50	head	\$200,000
Recreation Horses	150			1,400	head	\$2,100,000
Horses (Total)						\$3,650,000
POULTRY						
Broilers	*			3,127,082	lbs.	\$2,345,312
Poultry (Total)						\$2,345,312
RABBITS						
Fryers	*	750	No. Animals	3,000	lbs.	\$2,400
Rabbits (Total)						\$2,400
GOATS						
Show Goats				60	head	\$11,100
Slaughter Goats				650	head	\$68,250
Stocker Goats				40	head	\$3,400

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					
Cull Goats			60	head	\$3,600
Goats (Total)	42	575 No. Does			\$86,350
SWINE					
Show Pigs			50	head	\$16,500
Slaughter Hogs			800	head	\$124,800
Swine (Total)		No. Sows			\$141,300
TOTAL ALL ANIMA	L ENTERPRISES				\$10,421,520
LIVINGSTON PAI	RISH TOTAL				\$48,811,033